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Three/Four Year B.Sc. Il Semester Examination, December-2024

(Common to UG0805/(j130809/UG0810/UG0812)

(F acult;%lf Science)

Sub;ect@hemlstry
(Chemistry of s, p block elements and Noble Gases, Non-aqueous Solvent,
Nuclear Chemistry, Hydrocarbons and Alkyl halide, Fundamentals of
Thermodynamics, Solutions and their Colligative Properties)
Time Allowed : Three Hours Maximum Marks: 80
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No supplementary answer-book will be given to quy candidate. The candidates should write the answer
precisely in the main answer-book only. 0)
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Answers to short answer-type questions must be @en in sequential order. Similarly, all the parts of one

question of descriptive part should be answered in one place in the answer-book.
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Write your roll number on question paper before start writing answers of questions.
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Note:- Question paper consists of two parts ,ﬂrﬁmd B.
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Part-A: 20 marks 9IT-37: 20 3@ g
Part A is compulsory having 10 very sﬁgt answer-type questions (with a limit of 20 words) of

two marks each. The first question is b%ed on knowledge, understanding, and applications of

the topics/text covered in the syllabus.
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Part-B: 60 marks $FI-8: 60 3@ '
Part B of the question paper is divided into four units comprising question number 2-5. There is
one descriptive question from each unit with internal choice. Each question will carry 15 marks.
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1: (1)

(ii)

(iii)

(iv)

(vi)

......

.....

[2%10=20]
Write the formulae of 'apatite and fluoroapatite". -
an
P-4
e T "TRRERe & 9 %F?I
e
- ive example.
What is fullerene and what is meant b}éﬁopmg in fullerene, g1V
eeR T &7 et S & @ 3 &, JareRvr Ao
What is inert pair effect? Explain.
3ifeoa gy w82 FHERdl oy
<
R
Explain Fe, Al, Mg and Zn can displacé(\.gu from CuSO, solution but Ag cannot do so.
)

TR Fe, Al, Mg @7 Zn &7g CuSO, faera= # & Cu ot fozenfia o o € afd Ag
T A8l &% UrdTl

Explain, Ammonia is a better proton acceptor than water.
g
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What are isotopes and isobass? Give t\gﬁ example of each.
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(vii)  Draw the banana bond in Cyclopropane,
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(viii) What is Saytzeff's rule?
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(ix)  Explain reversible and irreversible process.
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(x)  Define Van't Hoff factor.
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Part-B/ 9NI- §

UNIT-1/ 3R-1I

2 Write a note on Solvation tendency and complexation tendency of S- block gfiements.

S

S-%auz dedl @ faerrad waf %W maftt W fewolt feRae [7.5x2=15]
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3. Write short notes on the following- s Wal
PrefeRaa w ifdre fowol ol - o -
S

(b)  Hyberdization and shapes of Xenﬁﬂ compo
ﬁhﬂdﬁﬁﬁ%ﬂﬁWﬁﬁmﬁﬁg,
. Unit-I1/ saﬂé

g H & = - t .
0 you mean by Frost diagram? Explain the utility of latimer diagram 1n construc

n of Frost diagram. 93
_\
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ss acid-base reactions and solvolytic reactions in liquid sulphur dioxide.

59 e STRaNaNiss | 3rel-&R ififeansii vd s smue siifsasi o
TS|

(®

P00GLG

stability of nucleus is relate%vith 1/p ratio? Explain
O
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| erte short notes on the following. =a=5l
Rt w e R fofad .
(a) ... Radioactive disintegration
e e

() Group displacement law

e o frem
(c) Nuclear reactions
TR fifsan
~Unit-INI / $&T -III
[5x3=15]
6 (a) What do you understand by reactivity and selectivity? Explain it with the reaction of
a

Cl, and Br, with isobutane?
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(b Explain Baeyer's Strain Theory.
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(a) Raoult's Law? Describe Ostwald-Walker method for the determination of relative

Wering in vapour pressure.
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What is cryoscopic constant of a solution ? What are its units? How is it related with latent

(b)

hea#fof fusion.
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OR / 3rml
[5x3=15]
7.7 "Write. short-hetes on the- following- "~
(a) Ozonolysis of Alkynes
Yeprg! @l eI STTECT
(b) Diel's Alder reaction
Sieg wesx 3iffear
(c) S,1 and S 2 reaction of alkyl halides.
et demer @ S, 1 7 S, 2 af¥fsan|
Unit-IV / 38T -1V
8. (2)  Calculate the necessary minimum work when four moles of an ideal gas are compressed

from 20 litre to 10 litre at 27° C
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“The depression in freezing p

oint of a solution of urea.in water is 0.4°C: Calculate the

boiling point of this solution. (Given K=3.63 K)
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